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L 6sen mit Klammern Name:
L 6se jede Aufgabe. Antworten
1) 15+ (52 =
1
2) (15-4)-2= 2.
3.
3) (64:8)-2=
4,
4) (6+9) 8=
5.
5 (9+8)+8= 6.
7.
6) (24:6)+2=
8.
7) (2¢6)+8= .
8 5+ (4-3)= 10.
11.
9) (7+3):1=
12.
10) (2+4)-6=
( ) 13.
1) (1+8)-1= 14,
15.
12) (79 :10=
13) (34-6):4=
14) (12:6) 6 =
15) 5e(14-1) =
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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Losen mit Klammern

L dsungsschltissel

L 0se jede Aufgabe.

1) 15+ (5+2) =
2 (15-4)-2=
3 (64:8)-2=
4) (6+9)8=
5 (9+8)+8=
6) (24:6)+2=
7) (2¢6)+8=
8 5+(4-3) =
9 (7+3):1=
10) (2+4)-6=

11) (l+8)-1:

25 15+(10)
9 (-2
6 -2
120 (15)-8
25 (17)+8
6 (A2
9% (12)+8
6 5+
10 (10):1
2 (8-

8 (9)-1

12) (7.9):10= 613 (63):10

13) (34-6):4=
14) (12:6)+6=

15) 5e(14-1) =

7 (28):4
12 (2)+6

65 5e(13)

Antworten

1 25
2. 9
3, 6
4 120
5, 25
6 6

7 96
8 6

9 10
10, 2
11, 8
12. 613
13, 7
14, 12
15, 65
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Losen mit Klammern

Name:

L 0se jede Aufgabe.

8 6 6
65 25 10
7 96 6r3

120
12

25

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

15+(5+2) =
(15-4)-2 =
(64:8)-2 =
(6+9)+8=
(9+8)+8=
(24:6)+2=
(2+6)+8 =
5+(4-3) =
(7+3):1=
(2+4)-6=
(1+8)-1=
(7+9):10 =
(34-6):4=
(12:6)+6 =

5e(14-1) =

10.

11

12.

13.

14.

15.

Antworten

C

Geandert
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93

87

80
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